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PENDAS
BEDMAS

17
15 I 15 1 6 3

33 I 15 C z
17

Brackets
Exponents 5 1 3 C 6 3
Division 1st C 6 3
Multiplication 15 1 18
Addition
Subtraction 33

No more models

B 13 17 2 13 11 2 L z f 5 l 8 B
t 13 122 t
p 131 22 3 L 8 D

35
µ 11 y M
A EXT NEXT A
s s
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5 6

5 1 3 L39 f 2 2 1 772 B
3
E 5 t1 L 3g 4 1772 E

g D
L 39 4 49 MM

A L 173 1 1 XC 1 x l l 43 49 A
S 1 1 l 6 S

l
2 2 23 1 2

4

average

4 27 1 6 4 1 51 2 11 6

C87 4 11 511 2 1 6

4 57 2 11 b

ta 12 1 b
The mean of

L 7 ti b the numbers
is 1

L 6 6
I


